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Ms(K) = {A; 3KIEH1T51}
W F O F SRR ORATH 5.

Theorem

EIE A= (3, 3 33) € Ma3(K) IS LT TIZREMET® 3.
(1) ABIERITH 5.

(2 VeKITHLTAV=0%451Ev=0

(2)’ 31, 3, 3 E 1T TH 3.

(3) fa: K3 — K3 IZHEITH 3.

(4) fa: K3 = K3 I3L5TH 5.

(5) det(A) £ 0

(6) A— - — Kb LITRAZVTE 3.
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mAEM3(K)2F5. ZDLE acKIZNLT

AV = av B3 V(#£0) € K3HEFIET
& det(als — A) =0

m Oa()\) i=det(Az — A) € K[\] & ADEBZIER & MR,
] A= (a,J) & 3_5 e

®a(N) = A3 — (a11 + ax2 + a33) A2 + CA — det(A)

n R ZhERED. CIEKRE 2.
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m A= (ay) € M3(K) IZH LT

tr(A) := a1 + ax + as3
Z AD b L —X (trace) & FE.
w FI P HIEAIE 3RELITIICTHE LT 5 L
Pp-14p(A) = Pa(})
m FEFA
det(\s — P71AP) = det(P~ AP — P71 AP)
= det(P~'(\s — A)P)
= det(P™1) det(\l3 — A) det(P)
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tr(P1AP) = tr(A)
det(P7LAP) = det(A)
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HREEE O FA E

n B HERHEBOZIHENX

FO) =X+ AN+ ad 4+ ap € C[)]

=8
fA)=A—a1) (A=)
r 1RROBUTHRTE S (o5 € ©).
mAc My(K)eF5L

®a(A) = (A = a)(A = B)(A =)
BB TE S, 7272 L o, 8,7 € C.
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LD+ oSt

EE1o,p,7eKETE ZOLE h
a#F B, BFEY, 1#
% SIXIERIZZ P € M3(K) STFEFEL T
P~tap
K’Eﬂﬁaﬁﬁﬂt*@% %. )
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EH 1 DFEERA (1)—EH 2

a I
T2 Ac M3(K), a,ﬁ,’y € K, [31,52,[33 S K3 MU T O =T LET.
a#tB, BF#, vF#a
Ap1 = apr, Ap2 = P2, APz = VP3
P P2, 3 #0
Z@t%P:(ﬁl [3253) FIER 72 b 3. J
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EH 1 DFERA (2)—EH 2 D

cip1+ cpa+c3p3 =0 (1)
ELET. (1) O A— vy ZHIT 5L

(o —7)pr+ (B —7)p2 =0 (2)
X512 (2 DA A— L E#ITZ &
ca(a—7)(a—pB)p =0

517'5075)5 61:07;')§ﬁ‘5.
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B 1 DFEHA (3)

1 DIRIT, BB pr,po, Pz € K3 DIFELT
Ap1 = ap1, Ap2 = (P2, APz = P3
P2, B3 €K BL#0, B2 #0, B3 #0
MWL L ET.
AP = (Ap1 Ap> ApBs) = (ap1 BP2 YP3)
:(515253)( p )ZP( 57>
CTCEH220 POIERITHZ2Z e300 D E3h 0, EH1GFHINET.
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HARB (1)

1 1 -2
A= (1 2 1) ZhA L £ 3. (SLIN2020L08 fEFERE V(2))
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A-1 -1 2 A-1 0 1-2A 1 0 -1
PaN)=| 1 A=2 -—1|=|1 A-2 -1[=A-1)]1 A-2 -1
0 -1 A+1 0 -1 A+1 0 -1 X+1
Lo A—-2 0
=(A-1)0 A=2 0 :(A—D‘_l A+J=4A+UQ—4XA—%
0 -1 X+1

o ADEEMHEIZN=-1,1,2 THBZh0Hh D £7.
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BARB (3)—[EH~NXZ F v
() A= -1 2FHXOHBEICBI 2ITEALELHVWS &

X X 1 0 -1 X
A =—|ylelo =3 0| |y]|=0 (#1)
)62 o))

THHI eI ET. 61

1 0 -1 1 0 -1
0o -3 0)—---—=101 O
0 -1 O 00 O

CITHRAZE TE LT 5

(#l)ex=z, y=0
ERDET. I SEBERY FLIZ

()=(8)=+() o0

fer 3 XocEHEEE (1)

THEZ Ly E3




BB (4)—EF X2 F v
(i) N=10t Z FOFIKDHBEDITEALE 2 HWT

)6 (#2)

N < X

X 0 0 ©
A =|lyle|l -1 -1
z 0 -1 2
0 0 O 1 0 -3
1 -1 -1)]—----=10 1 =2
0o -1 2 0 0 O

CITHAZEETEEZ TS

(#2) o x—3z=0, y—2z=0
ERDET. IO SEERY MU

X z 3

() ()-+(0) o

THoHZ LD DHD ET.
R Gz 3 JOUEAMEEE (1)
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BRI (5)—FEH~XZ b
(i) =20 T EHZHEAZRD 2 7DITHNATEALEZHWS &

N < X

X 1 0 -1 X

A =2|lyle(0 0o o y|=0 (#3)
z 0o -1 3 z

1 0 -1 10 -1

G 00)%W%G1g

0 -1 3 00 0

CITHRAZE TE LT 5

IZHWNT

(#l) e x=z,y=3z
ERDET. IO SEERY MU

()=(5)=+(}) =20
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BRG] (6)—xt A1k
1 3 1
p1L = (0), P2 = (2), p3 = (3), P = (p1 p2 P3)
1 1 1

X, HELRSZEEHEHOEERY FUVIHEHTI T2~ 6, PIRIEAIERD %
T Dk E

ZITEHIZ




